
Parts List

DESCRIPTIONPART NUMBERQTYITEM

All-Terrain Storage Box Lid7082011

All-Terrain Main Body7082012

Divider Pkg Assm - Humpstor 2022Divider 70800 Assm13

Wing Knob 1/4 Turn Latch100123214

Center Wire Brace100123915

Latch - Rubber T-Handle - Keeper100123526

Latch - Rubber T-Handle 100123527

Screw BHSCS #10-32 x 1" SS100126068

Handle - 90 Degree Metal- Black100104429

Screw BHSCS #10-24 x 1-1/2" SS1001006210

Washer #10 SS1001143211

Washer #10 Bond Seal SS1001244212

Nut Nylock #10-24 SS1001144213

Divider - Humpstor 70800 - 70801 / All-Terrain - 70820

STEP 1 - Attach Handle to Lid  

Place Handle (9) over holes in Lid Top. Insert two Bolts #10 x 1.5" (10) 

through Flat Washer - #10 (11), Handle (9), and All-Terrain Lid. Secure with 

Flat Sealing Washer (has a rubber backing) - #10 (12) and Lock Nut #10 (13)

Use 1/8" Hex Key Wrench. Note: Handle may already be installed.

STEP 2 - Attach Rubber T-Handles  

Place Rubber T-Handle (7) over inserts in Base. Insert two Bolts #10-32 x 

1.0" (8) through T-Handle (7) and use 1/8" Hex Key Wrench to tighten into 

the inserts, on each end, T-Handle should point outward when in the up 

position. Next install the Rubber T-Handle Keeper (6) on the lid, make sure 

the alignment knob on the back of the T-Handle Keeper lines up with the 

recess in the lid and secure in place with one Bolt #10-32 x 1.0" (8) by 

inserting through the T-Handle Keeper (6) and thread into the insert in the 

lid, on each end.    

Step 3: Foam Organizer / Gun Holders

Place each Foam Organizer / Gun Holder assembly (3) into the channel slots 

in the side walls of the ALL-TERRAIN Box (2). They can be positioned in 3 

locations on each end or in the center of the ALL-TERRAIN Box. To install 

rotate horizontally above slot and rotate downward and slide into slot.  

Stock of gun should rest in large groove; barrel should rest in small groove.  

Step 4: Center Brace

To maximize strength and stability, use the Center Brace (5). Insert each end

into the holes on the top lip of the ALL-TERRAIN Box (2) at the middle.  To 

access cargo, lift front side of Center Brace out of the hole and rotate the 

Center Brace out of the way to the right and insert into storage hole on 

back side of ALL-TERRAIN Box (2). Return Center Brace to front hole when 

finished.

Step 5: Closing and Locking the ALL-TERRAIN BOX

To close the Humpstor shut the lid and secure end T-Handles (7) by grabbing

the top of the rubber handle and pull up and secure onto the Rubber 

T-Handle keeper (6) on each end. Next on top of the lid (1) turn the Wing

Knob 1/4 Turn Latch (4) counter clockwise to engage locking mechanism. To

lock Humpstor, use the provided key. Insert key with teeth facing away

from you into Wing Knob 1/4 Turn Latch (4) and turn counter clockwise to

lock and clockwise to un-lock.

3

5

3

2

13

4

1

6

7

8

10

11

9

12

13

6

8

7

8

2

1


